

12011/67/2024 INSPIRE (Telangana)GEN
Government of India
Ministry of Science and Technology
Department of Science and Technology

Technology Bhavan,
New Mehrauli Road,
New Delhi-110016
Dated :20 Feb 2025

SANCTION ORDER

Subject : INSPIRE Scheme -- INSPIRE Award Component -- Sanction of Proposal from the State/UT Of Telangana for the year 2024-25.

Referenc : Data received online through the web application from the State Nodal Officer

Sanction of the President is accorded to the release of an amount of Rs **23220000/- (Rupees Two Crore Thirty Two Lakhs Twenty Thousand Only)** towards disbursement of INSPIRE Awards to the selected students of various schools in the state/UT of Telangana as per the list attached and as per following details:

Sr. No.	Name of the District	Number of Students selected for award				Total	Amount of award per student (Rs)	Total Award Amount (Rs)	Remarks
		Gender		Category					
		Male	Female	GEN	OBJ				
1	Adilabad	17	16	8	25	33	10000	330000	As per Annexure
2	Bhadradi Kothagudem	22	31	5	48	53	10000	530000	As per Annexure
3	Hanumakonda	45	58	20	83	103	10000	1030000	As per Annexure
4	Hyderabad	74	70	77	67	144	10000	1440000	As per Annexure
5	Jagtial	21	48	7	62	69	10000	690000	As per Annexure
6	Jangaon	18	17	3	32	35	10000	350000	As per Annexure
7	Jayashankar Bhupalpally	19	17	1	35	36	10000	360000	As per Annexure
8	Jogulamba Gadwal	25	20	7	38	45	10000	450000	As per Annexure
9	Kamareddy	29	32	6	55	61	10000	610000	As per Annexure
10	Karimnagar	55	81	19	117	136	10000	1360000	As per Annexure
11	Khammam	29	33	9	53	62	10000	620000	As per Annexure
12	Komaram Bheem Asifabad	34	51	6	79	85	10000	850000	As per Annexure
13	Mahabubabad	25	23	3	45	48	10000	480000	As per Annexure
14	Mahbubnagar	25	42	11	56	67	10000	670000	As per Annexure
15	Mancherial	31	39	13	57	70	10000	700000	As per Annexure
16	Medak	27	25	4	48	52	10000	520000	As per Annexure
17	Medchal-Malkajgiri	43	31	32	42	74	10000	740000	As per Annexure
18	Mulugu	4	7	1	10	11	10000	110000	As per Annexure
19	Nagarkurnool	29	24	0	53	53	10000	530000	As per Annexure
20	Nalgonda	35	43	7	71	78	10000	780000	As per Annexure
21	Narayanpet	2	11	2	11	13	10000	130000	As per Annexure
22	Nirmal	21	50	12	59	71	10000	710000	As per Annexure
23	Nizamabad	32	60	21	71	92	10000	920000	As per Annexure
24	Peddapalli	27	36	6	57	63	10000	630000	As per Annexure
25	Rajanna Sircilla	25	42	4	63	67	10000	670000	As per Annexure
26	Rangareddy	66	81	51	96	147	10000	1470000	As per Annexure

27	Sangareddy	47	44	14	77	91	10000	910000	As per Annexure
28	Siddipet	48	89	21	116	137	10000	1370000	As per Annexure
29	Suryapet	12	19	5	26	31	10000	310000	As per Annexure
30	Vikarabad	7	23	7	23	30	10000	300000	As per Annexure
31	Wanaparthy	38	53	12	79	91	10000	910000	As per Annexure
32	Warangal	53	61	8	106	114	10000	1140000	As per Annexure
33	Yadadri Bhuvanagiri	22	38	2	58	60	10000	600000	As per Annexure
	Total	1007	1315	404	1918	2322		23220000	

2 The amount of Rs. **23220000/- (Rupees Two Crore Thirty Two Lakhs Twenty Thousand Only)** towards grant of INSPIRE Awards of Rs. 10000/- each to 2322 students of General and OBC category (List of Annexure-I), may be debited to the following Head:

Demand No.89 - Department of Science & Technology,
3425 - Other Scientific Research (Major Head),
60 - Others (Sub-Major Head),
60.200 - Assistance to other Scientific Bodies (Minor Head)
76 - Vigyan Dhara,
76.01.49 - Other Revenue Expenditure (2024-25)
(Previous Head: 3425.60.200.68.02.49)

- 3 The amount of Rs. 10000/- each may be credited directly into the bank account of the students through Public Financial Management System(PFMS).
- 4 The State Nodal Officer in-charge/his authorized representative should ensure proper utilization of award amount for the purpose it has been sanctioned by ensuring participation of all the awardees in the District Level Exhibition.
- 5 The Sanction Order is entered vide INSPIRE S.No. **3874** in the Register of Grants maintained in the INSPIRE Award Division.
- 6 This issues with the concurrence of Integrated Finance Division, Deptt. Of Science and Technology vide IFD dy No**6710** dated **19 Feb 2025**.



(Sandeep Bansal)
Scientist 'C'

To
The Pay and Account Officer,
Department of Science and Technology, New Delhi.

Copy forwarded for information and necessary action to :

- 1 The Principal Director of Audit, Scientific Departments, Ilrd Floor, AGCR Building, LP Estate, New Delhi-110002.
- 2 Sr.AO, Internal Audit Wing, MST, New Delhi.
- 3 PS to AS &FA, IFD, DST.
- 4 The Controller of Accounts, DST, New Delhi.
- 5 The Accounts Section, DST, New Delhi.
- 6 The Secretary (School Education), Concerned State/UT
- 7 The State Nodal Officers (INSPIRE)- You are requested to send proposal for District/State level Exhibition and Project Competition at the earliest.
- 8 Director (IFD), DST, New Delhi.
- 9 Sanction Folder.

Note: Annexure(s) to the sanction, i.e. list(s) of selected students is available on the web application for download by the respective SNOs and will be available on the website of DST (www.inspireawards-dst.gov.in) within 15 days of issuance of this sanction. Only soft copy of list of selected students will be provided to State/UTs & other concerned agencies.

12011/67/2024 INSPIRE (Telangana)/SC
Government of India
Ministry of Science and Technology
Department of Science and Technology

Technology Bhavan,
New Mehrauli Road,
New Delhi-110016
Dated : 21 Feb 2025

SANCTION ORDER

Subject : INSPIRE Scheme -- INSPIRE Award Component -- Sanction of Proposal from the State/UT Of Telangana for the year 2024-25.

Referenc : Data received online through the web application from the State Nodal Officer

Sanction of the President is accorded to the release of an amount of Rs **6500000/- (Rupees and Sixty Five Lakhs Only)** towards disbursement of INSPIRE Awards to the selected students of various schools in the state/UT of Telangana as per the list attached and as per following details:

Sr. No.	Name of the District	Number of Students selected for award			Total	Amount of award per student (Rs)	Total Award Amount (Rs)	Remarks
		Gender		Category				
		Male	Female	SC				
1	Adilabad	3	4	7	7	10000	70000	As per Annexure
2	Bhadradi Kothagudem	6	7	13	13	10000	130000	As per Annexure
3	Hanumakonda	7	9	16	16	10000	160000	As per Annexure
4	Hyderabad	14	13	27	27	10000	270000	As per Annexure
5	Jagtial	5	11	16	16	10000	160000	As per Annexure
6	Jangaon	10	10	20	20	10000	200000	As per Annexure
7	Jayashankar Bhupalpally	17	7	24	24	10000	240000	As per Annexure
8	Jogulamba Gadwal	5	8	13	13	10000	130000	As per Annexure
9	Kamareddy	7	12	19	19	10000	190000	As per Annexure
10	Karimnagar	21	21	42	42	10000	420000	As per Annexure
11	Khammam	3	16	19	19	10000	190000	As per Annexure
12	Komaram Bheem Asifabad	10	9	19	19	10000	190000	As per Annexure
13	Mahabubabad	13	7	20	20	10000	200000	As per Annexure
14	Mahbubnagar	11	19	30	30	10000	300000	As per Annexure
15	Mancherial	16	7	23	23	10000	230000	As per Annexure
16	Medak	5	7	12	12	10000	120000	As per Annexure
17	Medchal-Malkajgiri	6	5	11	11	10000	110000	As per Annexure
18	Mulugu	3	3	6	6	10000	60000	As per Annexure
19	Nagarkurnool	15	11	26	26	10000	260000	As per Annexure
20	Nalgonda	18	20	38	38	10000	380000	As per Annexure
21	Narayanpet	1	1	2	2	10000	20000	As per Annexure
22	Nirmal	8	19	27	27	10000	270000	As per Annexure
23	Nizamabad	7	8	15	15	10000	150000	As per Annexure
24	Peddapalli	9	8	17	17	10000	170000	As per Annexure
25	Rajanna Sircilla	6	12	18	18	10000	180000	As per Annexure
26	Rangareddy	9	22	31	31	10000	310000	As per Annexure

27	Sangareddy	9	13	22	22	10000	220000	As per Annexure
28	Siddipet	21	18	39	39	10000	390000	As per Annexure
29	Suryapet	11	3	14	14	10000	140000	As per Annexure
30	Vikarabad	1	4	5	5	10000	50000	As per Annexure
31	Wanaparthy	7	13	20	20	10000	200000	As per Annexure
32	Warangal	8	12	20	20	10000	200000	As per Annexure
33	Yadadri Bhuvanagiri	6	13	19	19	10000	190000	As per Annexure
Total		298	352	650	650		6500000	

2 The amount of Rs. **6500000/- (Rupees and Sixty Five Lakhs Only)** towards grant of INSPIRE Awards of Rs. 10000/- each to 650 students of SC category (List of Annexure-I), may be debited to the following Head:

Demand No. 89 - Department of Science & Technology,
3425 - Other Scientific Research (Major Head),
60 - Others (Sub-Major Head),
60.789 - Scheduled Caste Component,
18 - Vigyan Dhara
18.01.49 - Other Revenue Expenditure (2024-25)
(Previous Head: 3425.60.789.14.01.49)

- 3 The amount of Rs. 10000/- each may be credited directly into the bank account of the students through Public Financial Management System(PFMS).
- 4 The State Nodal Officer in-charge/his authorized representative should ensure proper utilization of award amount for the purpose it has been sanctioned by ensuring participation of all the awardees in the District Level Exhibition.
- 5 The Sanction Order is entered vide INSPIRE S.No. **3875** in the Register of Grants maintained in the INSPIRE Award Division.
- 6 This issues with the concurrence of Integrated Finance Division, Deptt. Of Science and Technology vide IFD dy No. **6715** dated **20 Feb 2025**.



(Sandeep Bansal)
Scientist 'C'

To
The Pay and Account Officer,
Department of Science and Technology, New Delhi.

Copy forwarded for information and necessary action to :

- 1 The Principal Director of Audit, Scientific Departments, IIIrd Floor, AGCR Building, I.P Estate, New Delhi-110002.
- 2 Sr.AO, Internal Audit Wing, MST, New Delhi.
- 3 PS to AS &FA, IFD, DST
- 4 The Controller of Accounts, DST, New Delhi
- 5 The Accounts Section, DST, New Delhi.
- 6 The Secretary (School Education), Concerned State/UT
- 7 The State Nodal Officers (INSPIRE)- You are requested to send proposal for District/State level Exhibition and Project Competition at the earliest.
- 8 Sanction Folder.

Note: Annexure(s) to the sanction, i.e. list(s) of selected students is available on the web application for download by the respective SNOs and will be available on the website of DST (www.inspireawards-dst.gov.in) within 15 days of issuance of this sanction. Only soft copy of list of selected students will be provided to State/UTs & other concerned agencies.

12011/67/2024 INSPIRE (Telangana)/ST
Government of India
Ministry of Science and Technology
Department of Science and Technology

Technology Bhavan,
New Mehrauli Road,
New Delhi-110016
Dated : 21 Feb 2025

SANCTION ORDER

Subject : INSPIRE Scheme -- INSPIRE Award Component -- Sanction of Proposal from the State/UT Of Telangana for the year 2024-25.

Referenc : Data received online through the web application from the State Nodal Officer

Sanction of the President is accorded to the release of an amount of Rs **3390000/- (Rupees Thirty Three Lakhs Ninety Thousand Only)** towards disbursement of INSPIRE Awards to the selected students of various schools in the state/UT of Telangana as per the list attached and as per following details:

Sr. No.	Name of the District	Number of Students selected for award			Total	Amount of award per student (Rs)	Total Award Amount (Rs)	Remarks
		Gender		Category				
		Male	Female	ST				
1	Adilabad	6	5	11	11	10000	110000	As per Annexure
2	Bhadradi Kothagudem	26	22	48	48	10000	480000	As per Annexure
3	Hanumakonda	5	5	10	10	10000	100000	As per Annexure
4	Hyderabad	1	8	9	9	10000	90000	As per Annexure
5	Jagtial	1	2	3	3	10000	30000	As per Annexure
6	Jangaon	6	3	9	9	10000	90000	As per Annexure
7	Jayashankar Bhupalpally	5	1	6	6	10000	60000	As per Annexure
8	Kamareddy	0	7	7	7	10000	70000	As per Annexure
9	Karimnagar	1	1	2	2	10000	20000	As per Annexure
10	Khammam	10	9	19	19	10000	190000	As per Annexure
11	Komaram Bheem Asifabad	8	4	12	12	10000	120000	As per Annexure
12	Mahabubabad	15	9	24	24	10000	240000	As per Annexure
13	Mahbubnagar	6	7	13	13	10000	130000	As per Annexure
14	Mancherial	8	7	15	15	10000	150000	As per Annexure
15	Medak	3	3	6	6	10000	60000	As per Annexure
16	Medchal-Malkajgiri	0	3	3	3	10000	30000	As per Annexure
17	Mulugu	1	1	2	2	10000	20000	As per Annexure
18	Nagarkurnool	6	6	12	12	10000	120000	As per Annexure
19	Nalgonda	5	10	15	15	10000	150000	As per Annexure
20	Narayanpet	0	1	1	1	10000	10000	As per Annexure
21	Nirmal	9	12	21	21	10000	210000	As per Annexure
22	Nizamabad	6	10	16	16	10000	160000	As per Annexure
23	Peddapalli	1	0	1	1	10000	10000	As per Annexure
24	Rajanna Sircilla	2	2	4	4	10000	40000	As per Annexure
25	Rangareddy	5	6	11	11	10000	110000	As per Annexure
26	Sangareddy	3	3	6	6	10000	60000	As per Annexure

27	Siddipet	4	1	5	5	10000	50000	As per Annexure
28	Suryapet	4	1	5	5	10000	50000	As per Annexure
29	Vikarabad	7	0	7	7	10000	70000	As per Annexure
30	Wanaparthy	8	4	12	12	10000	120000	As per Annexure
31	Warangal	15	7	22	22	10000	220000	As per Annexure
32	Yadadri Bhuvanagiri	1	1	2	2	10000	20000	As per Annexure
	Total	178	161	339	339		3390000	

2 The amount of Rs. **3390000/- (Rupees Thirty Three Lakhs Ninety Thousand Only)** towards grant of INSPIRE Awards of Rs. 10000/- each to 339 students of ST category (List of Annexure-I), may be debited to the following Head:

Demand No. 89 - Department of Science & Technology,
3425 - Other Scientific Research (Major Head),
60 - Others (Sub-Major Head),
60.796 - Schedule Tribe Component
19 - Vigyan Dhara
19.01.49 - Other Revenue Expenditure (2024-25)
(Previous Head: 3425.60.796.15.01.49)

3 The amount of Rs. 10000/- each may be credited directly into the bank account of the students through Public Financial Management System(PFMS).

4 The State Nodal Officer in-charge/his authorized representative should ensure proper utilization of award amount for the purpose it has been sanctioned by ensuring participation of all the awardees in the District Level Exhibition.

5 The Sanction Order is entered vide INSPIRE S.No. **3876** in the Register of Grants maintained in the INSPIRE Award Division.

6 This issues with the concurrence of Integrated Finance Division, Deptt. Of Science and Technology vide IFD dy No. **6716** dated **20 Feb 2025**.



(Sandeep Bansal)
Scientist 'C'

To
The Pay and Account Officer,
Department of Science and Technology, New Delhi.

Copy forwarded for information and necessary action to :

1 The Principal Director of Audit, Scientific Departments, Illrd Floor, AGCR Building, I.P Estate, New Delhi-110002.

2 Sr.A0, Internal Audit Wing, MST, New Delhi.

3 PS to AS &FA, IFD, DST.

4 The Controller of Accounts, DST, New Delhi.

5 The Accounts Section, DST, New Delhi.

6 The Secretary (School Education), Concerned State/UT

7 The State Nodal Officers (INSPIRE)- You are requested to send proposal for District/State level Exhibition and Project Competition at the earliest.

8 Director (IFD), DST, New Delhi.

9 Sanction Folder.

Note: Annexure(s) to the sanction, i.e. list(s) of selected students is available on the web application for download by the respective SNOs and will be available on the website of DST (www.inspireawards-dst.gov.in) within 15 days of issuance of this sanction. Only soft copy of list of selected students will be provided to State/UTs & other concerned agencies.